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Instructions:

e Do not turn to the first page until you are told to do so.

e Write down your name, your contestant number and your school's name on
the answer sheet.

e Write down all answers on the answer sheet. Only Arabic NUMERICAL
answers are needed.

e Answer all 25 problems. The total is 120 points. For problems involving
more than one answer, partial credit will be given for any correct answer.
There is no penalty for a wrong answer.

e Diagrams shown may not be drawn to scale.

e No calculator or calculating device is allowed.

e Answer the problems with pencil, blue or black ball pen.

e All papers shall be collected at the end of this test.
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Section A (4 marks each)
A A (B 4 77)

. Which of the following is the sum of two prime numbers ?
TR A B A R e A
(A) 11 (B) 17 (C) 23 (D) 31

Count : 97 X 96 - 95 X 98=7
. 97 X 96 - 95 X 98 =?

. Find the missing number which replaces the (?) in the following.
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6. For a train to pass by a 1260 m long iron bridge, it takes 60 seconds (the time is judged by
the front of the train reaches the bridge and till the rear left the axle). The same train to
cross a 2010 m long tunnel, needs 90 seconds. What is the speed and the length of the
train?

— IR EEE K 1260 A REVGM (G kbl EAFEL R BT H T 60 £, KEFBIK
2010 A REIBEEH] 7 90 6o [ XFKEFER RN E T KB R L D2

7. A factory had ordered the materials to produce 30 t-shirts and 48 skirts. However, the
customer changed the order to produce only 20 t-shirts. How many skirts can be sewed
with the remaining materials?

A L] JEARIT 7 A DA 30 AR EACRT 48 PR4E TR IEURE, B IR i Se g 20 1R K. 3F
[ (1 i b w] DA S A A4 52

8. Team A can completes a project in 10 days, while the same project, team B needs 30 days.
In order to complete this project before the opening ceremony, both team A and team B
are working together. During the tasks completion, team A rests for 2 days while team B
rests for 8 days. In the period of project execution, both teams do not rest at the same time.
What is the total number of days using to complete this project?

A — TR, A BAEIUH 10 R5ERY, B BASA Y 30 RIERL. IAEE AL T 310 58 L, PIBA&1E, A
ABMRE T 2K, BBMRE 1 8 K, XIIE MBAARERI RS o 17 JTURFIE TN 17 2K?

9. The teacher wishes to select a class leader from a class of 49 students. Dawn, Lee and
Hua are the candidates. At vote’s calculation of 37 votes, it is found that Dawn has 15
votes, Lee has 10 votes while Hua has 12 votes. At least how many votes count more is
needed from the remaining votes for Dawn to win in the class leader selection as majority?

EIMM 49 i — P, AR KU DERRHENREN . WISET 37 5K5R A
K RWIISEE, N2 105, R 1252, AR THES, RYEDEBILEA RERIERZZ
A ER?
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10.

11.

At a dancing performance in sport carnival, the students need to form 16 circles,
encircling from inner ring to outer ring. In every circle, moving from the outer ring,
towards the inner ring, successively 6 students are removed from each circle. If there are
912 students in the performance, what is the total number of students for the outmost
ring? And, what is the total number of students for the innermost ring?

iBah4x AR A AR K 16 FE, — =, A B b 6 N an SR
A 912 N, M EANEH 20 N2 A A 20 A2

In 2015 Olympiad Math World Championship, students were allowed to enroll in the
competition either as an individual, team competition or both. It was known that, class
4R has 22 students registered as individual contestant, 13 students registered for team
competition and 5 students were not participating. What is the minimum number of
students in class 4R?

2015 E A MBGEFR A TR AL, AT AZE, BIRSE, spTialh. CRIDNZEs 22 fis
BRI, 1B AR BIASE, A g ey, 1§ AR IR /DE Z g7

12. How many two-digit natural numbers that can divide 490 and have 30 as remainder ?

13.

K PIL T I SRBUEE R R 492 &% 30 « AN EILA £ D42

Both brothers have some candies. If the elder brother gives away 32 candies to the
younger brother, both of them will have the same amount of candies. If the younger
brother gives 13 of his candies to his elder brother, it will results in the elder

brother is having 3 times more than his younger brother. What is the total number of
candies does the elder brother has?

E mﬁﬂ%%ﬁ*‘ﬂﬁ*ﬁ% AR AR AR A A 32 W, A NURE R —#E2  WR 2 45 /) A 13
B B/ RFRIRER LG 20 2 3 4% . 1B R &) Al JLBIRER ?
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14. There are 3 customer services counters in a bank.
Counter A requires 3 seconds to serve a customer.
Counter B requires 5 seconds to serve a customer.
Counter C requires 7 seconds to serve a customer.
However, every added transaction from the same customer required additional
2 seconds. Based on the below queuing condition, which counter should Stacy queues
in order to be served fast.

(Number in the brackets represents the no. of transactions that are requested by the customer)

—FRITHE =G RSB, EGAREIDH, HEBHELSMHH, HECHET
Mot WERFE- DR NS HE, BN Hn 288, RELUNNEER, Ba
FUBNTEDL, BB AR & AME AT AR N2 AR EAZ 5 7 (35 W BT ARR 2 7 A 5 B E5R)

COUNTER A. COUNTER B COUNTER C
HE A LER=N:! LER=Xe
@ K *¢®
(2) 3) (1)
(1) (1) (1)
(2)

15. Watermelons are sold individually in a certain shop and each customer can only buy 3
watermelons at most. Customers can buy one at the original price, two at a 10%
discount and three at a 20% discount. In a day 76 watermelons are sold for 33
customers. The average price for each watermelon is 85% of the original price. How
many customers buy only one watermelon that day?

TR RE 78R % A2, MeEfMmERE RAEE 34, R LS —A, $#%J5E i
R SEPHAN A FEAN 10%; W1 F KL =AN AR 20%. 25 2R KR)E 2 76 MR, =24y
T 33 A%, IR REIEN SR EN ) 85%, HBAIX K E— PG KA %4 2 /b A 2

@ QO QRO

Original price 10% discount 20% discount
A FEA 10% B 20%

(Oa] |
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16. There are 3 consecutive even numbers, where the difference between the product of last
2 numbers and the product of biggest and smallest numbers is 104. What is the smallest
number in this set of even numbers?

=ANESRIEE, AN BU AR S SR KPR 2 252 104, TBAGX
=M RNAER 2 2

17. "MIMOQ" is an abbreviation for Malaysia International Mathematical Olympiad. If 5
different colours are provided to paint the characters below, how many combination of

paintings you can have? The colour must not be the same for the character that is next to
it.

“MIMO™ 2 Bk 78 M0 [ P B AR UL S0 S8 38 A4 S, AR 5 M R [FIB G Bt 2k B, A4
P BN LA R e, W 30E 2R R R

18. Xiaoyu has an elder sister and 2 younger brothers. These siblings’ ages are only one
year apart. This year, their sum of ages are the same as their mother, which in total is
68.What is Xiaoyu’s age this year?

NFANIHEMBEAL 5, AR MR FR S E 2. S8, WITNER
ME R FERAR, A3 68 %, /NFAHER S

19. Ling Ling was helping the teacher to calculate the average number of pencils brought by
48 students in her class daily. Ling Ling got an average number of 3.273. However, the
teacher pointed out that Ling Ling got the wrong answer on the 3rd decimal digit. What
Is the correct answer?

EIMF R b 48 Or [F) AR R T 2 DR E B, it 5515 3.273 Kigs Z )M
azan RS SR A GSYEE X VA A RS = I VAE S 2
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20. Fill in Deither "+" or "-"infrontof 2, 3, ..., 2012, 2013, 2014, till 2015, the
final answer for the equation would be:

1 2 3 a4l | 2013 2014 2015="7

A. may be an odd number or even number
B. must be an odd number.

C. must be an even number.

D. answer would be 1 or 2015.

1, 2, 3, ..., 2012, 2013, 2014, 20152 [f)[ | B, EEEMN “+ 5 <- », FAIHIRIEE
RER:
1 2 3 4l | 2013 2014 2015 = ?
A. TR A A AT DL 5 2
B. —&Rw.
C. —ERME.
D. &7 15{ 2015,

21. Heptagon PERMATO with 7 sides, 2P = £E = zZR =M = £A = £T= 149 degrees.
How many degree is £0 ?

H—NLilE PERMATO, OV 4P =zE=2zZR=2zM=2A = 2T=149, k20,

22. There are three different natural numbers. Their sum is 1267. When the greatest

common divisor of the three numbers is the largest of all, please list out these three
natural numbers.

A 3R ERE, BTN 1267, X =NER KA RBZ &R, K.

REAMERE D

23. As shown in the figure beside, there is a semicircle with diameter of 10cm.
The semicircle does a 45 degree clockwise rotation at point A.
What is the area of the shaded region?

WA, —ANEAR 10 20 KEE, BLA RO TR
Bt 45 B2, 16 B AR 200

B:

A |
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24. Every books in popular bookshop has a barcode printed. Every barcode has 13 digits from 0~9. First 3

digits represent the manufactured country, meanwhile the following 5 digits represent the production
company. Then is followed by the 4 digits that represent the product code. The last digit is checksum

ST

Example
0758
Samy found that, the book that she bought has a special barcode. Reading the barcode from the left, the
grand total for the sum of the even bits multiply by 3 and the sum of the odd bits , is a multiple of 10.
For example, if the barcode is 690909500151A. A is the checksum number. What is the value of A?

KA JREE— AR ET, #EAFBM. FDFBME A 13 M. AR
0~9 FJH . AT =M ARAEER, RIS SHAERE 0k (AR, HiEENN

PR AT, e R

15) ke ¢

=R RIS T SR TS R S IXRE R g A AR A, B A, FRbL 3 )5, 5HEH
S BB AAR D, SR 10 BIRE .  Ehln— R ST
690909500151A. H i A FoRIIL, N A=2?

25. Ming was out for dinner and came home in less than 1 hour. He found that the needle
position of hour hand and minute hand of the clock is exactly in opposite position,
compare to the time when he left the house. How long he had been out for dinner?

NS AR, BT RIS TR LRI TR, AR 1N, RIS, X T hE R
B ORI BRS04 AL B NI A, T A 2 AR TR 2
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